&F0 645y i = X 15
i XATF 4« FCAR T AT UK LB EE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| KE b X — | BRMR | PR HYE phME phYE - -
A L Xk
1 fHfEEET
(1) & A g —# 34t 53 - - - -
(2) EFELS ORI 50 | L1|F 7off T8 @ — — — —
2 Z=FEHT
(1) W EF AR s A B L R IR TEHE X 50 | 0.6 - ST 11 11 - —
(2)  ERLStOHX 50 | 1.1 — B4t 1EE 11 0 — —
RELH eeics — | BEHE | PLHE J:I:.YEr [Pkl s e - -
FEE e A% — | BRAR | PMY bk¥E bWy e | —
T LA X 50 | 0.6 — 441 | —
(=R - AR o R L R B R A HEL 1K)
g2 4m [iEcERAES:7 — | BEAR | bhEE Mh¥E kHE LhvE - —
AT (LA Xk
1 _LAtREy, b BT, BURET, 8T, 50 | 1.1|f 39fF 63 3.086 3.0 | —
DARAHT, VEAKH], R, JRENT,
B/ THT
ZAN I )
(1) Mg E R 5 A J - 45 R A X 50 | 0.6 25 43%0 9.4l 9.4 | —
(2) RSt OHIX 50 | L.1|% 38 6ol 9.4l 9.4 | —
3 LR oM 50 | L1 35/ 57 3. 460 3.4 |
AR ks — | BRAR | R tl:ﬁr bt%J e
ol s b E IRk — | BEEE | HhME LkEE  LhHE LhE - -
i LR K ik
1 s - REREEE R LEFRIRFHIK |50 | 0.6 —|  —fl 3.2¥f 3.2 —| —
B UL [ JE s A [ - R B R A7 L X
2 LELADHIX 50 | 1.1 — r@ 3.2r@ 3.9 - —
Epallll i Ik — | BEAR | fkME bk¥E kMR LkME - -
AR KR 50 | 1.1 - | sIR 5y -
x| bt AT b XIS — | R | fhiH LkEE Lbdy eME | —




ST 645y i = X °H
i RCET A4 - T A s X A BBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = 2 e & # ®
| e AT LR
1 Pk i TER Sl vy Jl AR 1 P A L X
(1) B ET 50 | 0.6 36 ST 0.8 0.8 | —
(2) db/ BXET, |LEET, &EET 50 | 0.6 |F 39 98 8.0 8.0 | —
(3) F&JIHHAT 50 | 0.6 | 36 109 9.8 9.8 | —
(@) _EFELAS ok 50 | 0.6 [P 4o 1214 8.0 8.0 —| —
2 kRSO HIX
(1) BT 5 | 1.1 —|  —hoo.gEiog | —
(2)  ERELSoHIE 50 | 1.1 —| 98+ 8.0 8.0 — —
| FALTRAHET 2 X I —t LTl 3.2l | | | —
LRRLIA o Kk 30 | 1.2 | 3.1 6. L 1. 15l 1.1 — —
AL T 5 A M IR el ezl | | | —
HEEIEANGYES 30 L2$2AE64%10%10 - -
FALEILET T X Sl —l 2.0t 3.7 —| - - -
e NG 30 | L2|F 2.8F 6.9 Logl .oy  —| —
FALH Ik ET = F i D —l 2. 08 3.5 —| - —| —
RFRRLIA D K S5
1 [EiE16 258hn 30 | LUt 38 TOLEE LG L7 — —
2 LRELstoR 30 L1¢36¢6J%1JE17 - -
HALSF T = R Hb R 3 —fid 2. 1 3.7 — — — -
ERRLAA DK 30 | L2|h 2.8 b2kt 1M 1]~ —
AR LFET £ P L U —fdi 1.9 3.8 —|  —|  —| -
ERLEAA D X I 30 | L2|f 2.3 5.4 LofdE Lo — -
AL B ET P P L X fgk —ot Lol 3.8 | | - —
EERLA O KIS 30 | L2|P 2.6 484 1LopE .00 |  —
ALK EFET fi P b X3 —l 2. 48t 3.7 | —| - —
LR DRI 30 | L1|p 2.8 s Ll 1] | —
FLAL /N T £ X A *%lﬁﬁBj -1 - - -




&F0 645y i = X 3E
i RCET A4 - T A s X A BBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
G FA N HEET RO K 30 | L1|d 2.7 A6k oM 10— —
FALFA T P X3 —# Lo 3.3 - - - -
LRSS 30 | L1 2.6 5 onp0 LogE 1.0 —| —
AL BEET F P X3 —t LTl 48 | | | —
ERRLIA O Kk 30 | LL|H 2.7H 5 THE L3ME 1L — —
AL R mET FEE FH B X3 —hlo1TeE 31 | | | —
RS DK 30 | LU|P 2.7 43t L 1] | —
Bt BT 2 R i Xk —ffd 1. 7R 3.3 — — — —
RS DK
1 EE16 2 B 30 | L2 3 b s nph L3 1.3 | —
2 hEEA o i 30 L2¢3J¢58L13L13 — —
AL B AR 2 H —l1apo2.20 | —| | —
EFRLIA O K
1 EiE16 2 BBy 30 | L4t o318 LMl —  —
2 LRELIA o Mt 30 L2|% 3. 1F 5. 400 1.260 1.2 - -
FALRE HET 72 F [t il 2.t 5.30 - —-| - -
RFRRLIA D K ek 30 | L2|d 3.3 7.o8 LofE 1.0 — -
FALFARET 2 P b PR — 2.6 4.1 - - - -
LERES DX
1 [E#E 16 2B#Hinn 30 | L1|F 49f 9. 08 1.3 1.3 —|  —
2 RSO R 30 | 1.1 |4 4.5 6. 9k 1.3[: .3y - —
FAGHE T £ P L U —foti 2.0 3.5 —| —| - -
ERLEAA D X I 30 | Ll|4 3.9 5.0 LTHE LT — -
RALEBET P P L X fgk —t L7l 3.8 | | | —
EERLA O KIS 30 | L2|P 3.1F 6 1 LopE 1.0 | —
AR ERET 2 P i X —Fl 1. 9l 2. 5 - - — —
EESAORIE 30 | L2|p 2.7 326 Lol .o —| —
AL T REF AT £ X A — i 1.8F@ 28 - - - -




&F0 645y i = X 1H
i XATF 4« FCAR T AT UK HEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| FAL T REHET RO K 30 | L2 2.9 428 108 10— —
FACT R BT P X3 — Lo 3l -~ | —
LRSS 30 | L2|P 2.7 4500 L3E 1.3 | —
b FRT F P X3 —t 2. 3l 400 | | - —
EERLS O K
1 EiE4 77 5B 30 | LL|h 44 7080 LoEE 1Ly | —
2 kLo 30 | L1|P 4.3 6.8t Lo 1. —|  —
FCARTF AT 2 R i Xk —ffd 1. 9 3.3 — — — —
RS DK
1 EE16 2 B 30 | L2 3ok 8o L 1.8 | —
2 hEEA o i 30 L2¢3J¢62L1@L13 — —
AL TR HIEY 5 A M IR 2. upi 3.7 | | | —
EFRLIA O K
1 EiE16 2 BBy 30 | L1 3.3 .ol 18 1.8 — —
2 ERLEA O 30 | Ll 3.2 7.4 LSk 1.8 — -
FALE L ET = F i D —l 2. 860 5.2 —| - - —
RFRRLIA D K S5
1 JEIEERY, EE16 2580 |30 | L1|dR 5 9.0M L7wE 1.7 — —
EOEE4 7 7 BBV
2 LRELU o 30 | L[ 4.0F 7.06 166 1.6 | —
AT BT X I —t Lot 54— | - —
ERLLAS O K 30 | L1|% 3.0 6.4 1.3 1.3 —|  —
AL E BT 2 H —l 1. 70 3.5 | —|  —|  —
EEEANOTFS 30 | L1|P 3 1F 56 LogE 1.0 —|  —
LAt R R Hb Xk —f#l 1. G 3.0 - - - -
e NG 30 | L2|H 2.6 468 LopE 1.og  —| —
F AT = P b X —h 2. of .00 —  —| | —
LA D KI5
1 [EiE4 7 7 BRI 30 | L1 4ok 7o o1y~ —




&F0 645y i = X 5E
i RCET A4 - T A s X A BBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| FALLHET 2 RERLSOHI 30 | L1|f 3.9 660 128 1.2 — —
FAGESHT P X3 —F Lo .00 - - - -
LERLIA o Kt
1 [EHiE4 77588 30 | 1| 3.9 61 1o 1.2 —|  —
2 EECLIA oD 30 | LLL|H 3.7H 5.6 L 2E 1.2 — —
AALARA ] i FR b X g A T T I I
RS DK 30 | L2|h 2.7 47 LopE 1.0 —| —
KL R =T PR P L X3 —l 2.9t 400 | —|  —| —
RS DK
1 EE4 77 BB 30 | L[ 47 7T Lo 1.y | —
2 hEEA o i 30 L1¢4a¢6ﬁL1J%12 — —
AL Er 2 H —l 1o 41 |~ —|  —
LIS O R 30 | L1|P 3.5 66 LwE 1] —|  —
A PEET Y Hb X —ffi 1. 8ffi 2.8 - - - -
HEEIEANGTFS 30 | L2|F 2.9 426 Lol Lo —|  —
ALK 2 BT = F i D —l 1.8 2.9 | —| - -
RFRRLIA D K ek 30 | L1|H 2.8 4.3 Lo 1.0 — -
FALAEY = PR I —pii 1. 8ff 3.1 — — — —
SEIICINDIFS 30 | L1|d 2o Aokt oM 1. - —
AT 2 P [ —h Lol 4.0 - - - -
RS oD K Se
1 [EiEA4 77 FHIE 30 | L% 3.6 6 L 126 1.2 —  —
2 ERCEA s 30 L1$3A$5ﬁL12%12 - -
FALAREFET P P L X fgk — Lol 41 | | - —
EEELMSN 0 I
1 [E#E16 258 G- R B 30 | L1|F2.9f 6.0 Ll 1. —|  —
2 LFELh o g 30 | L1f 2.3 sepl LUE 11— —
FACEHT £ X A —%1@&34 -1 - - -




ST 645y i = X 6
i RCET A4 - T A s X A BBE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
F FALEET EFepS o K 30 | L2 2.7 403 1o 1.2 | —
FALRACH Y P X3 — L9 3.0 | —| - —
LRSS DR 30 | L2|P 2.9 420 Lol 1.0 —|  —
AL HAET F P X3 —t LTt 38 | | - —
EEELS OO KR 30 | L2 2.7 6. 1 1.or@q Loy - -
a| Akt e — | BAR | fLi tl:f%r by ey | —
R [eEeiR (s — | BRER | Phif| phiE ped bl | -
AT AR X g
1 /e e S A R R B AR T LK
(1) %~ =HT 50 | 0.7 —| Ty - -
(20 EREstoHR 50 | 0.7 SO 7T 6. 7WE 6.7 | —
2 VR R s ) JEL R PR T L[
(1) JA{RHET 50 | 0.6 |F SUF 55 7 oMk 7.9 —| —
(2) kRSt HR 50 | 0.6 | 5UF 56 6.4 6.4 —| —
3 BRSO
(1) FEH 50 | 1.1 —|  —is.oMisg | —
(2) JEREH] 50 | 1.1 —[# 71E@ 4.3 4.3 - —
(3) LEELis oM 50 | 11| o7 10580 6. 7WE 6.7 —|  —
eI AR [iEkcplaEe: — | BERR | LMY bW Mg bWy | —
T LR I 50 | 0.6 54 59 6.2 6.2 —|  —
(Wi iy PRE o ) JEL 1A B AR T 1 X
W1 A [iEECaR A — | BRAR | LLUE M b My | —
AT LA R 50 | 0.7|F B2 o5 7.8F 7.8 | —
(/AL B S G L R (R A7 1K)
Wikl 2 < A Kk — | BRAR | PbME bbYE LbMH pLWE —
AL A X8
1 EREREE S AR R AR BURFHIX RO [ 80 | 0.6 —t 58ff 4.0E .00 —| —
A R L1 RE o ) L AR R AT X
2 ERELA DX 50 | 1.2 —H T8 4. O 4.0 0 — -
I T P AR 50 | 1.1 |d 14 240 4. 1[“: o




470 605y s ® K 7H
AT ; T EE ______LRBEE
SR ks w0 W e w4 [P PERERTIEEETA RS
5| e e G P s s s (e
LA D KI5 50 | LO|f 12ff 28 3.08 3.0 @ — —
IR IR 27 Fok i X 35 —tos.EE 19 | | | —
EELIA 0 KR 50 | L1 19 o8t 3 e 3.1 0 | —
WP B 50 g — | BEAR | HLME tl:@r tt@rﬁtti‘% -1 -
W B Sn 2 P T e — | BRAR | Pbi k¥ Lk e | —
R A < P T EssiA — | R | Pt ke bbd e | —
PN [ERCi — | MR | Pt LkBE ¥ e | —
T LA X 50 | 0.7 — Lol 7.2l | —
(/N L e st i JEL T AR B R A7 Hi )
e 5 = b Rk — | BRAR | LM beWE bk b - —
T LR ik
1 /A LR S A L R R AT ML X 50 | 0.7 — L T.60 7.6 00— —
2 BRBLERAETRIIRFEX
(1) —#esRET 50 | 0.6 —[FF 78 5.0t 5.0 | —
(2) defRET 50 | 0.6 —F gt e 9.y | —
(3 flgyHT 50 | 0.6 —ff 7o 9.9 0.9 | —
3 kRSO HIX
(1) —#ERHT 50 | 1.0 —[ 84l 5.0ff 5.0 —| —
(2) dbremy 50 | 1.0 —F 84 9 9.1 | —
(3 ALgyHT 50 | 1.2 —f 78 9.9 9.9 | —
(4) AT 50 | L2 — | mﬁ50ﬁ5n - -
MR, — B RE [ AT [iEREaR A — | B | P kY tt‘i”Er o I
AT AR X 50 | 0.7 |F 52 95fl 7.6l 7.6 0 —|  —
(/)N L PR sk g JEL - R B R A LX)
g 7 Ezin — | BRAR | PbME kMR peME MR | —
I TR i Ik — | BEAR | fkME bk¥E kMR LkME - —
AR KR 50 | 0.6 |F 520 554 8.8 8.8 |  —

(IR S 4 R A BUAR AT U X)

UK = P S X H — 106 26 — — — —




&F0 645y i = X 8
i RCET A4 - T A s X A BBE
e R ks @ A o w4 [P PEEERTIBEITOGES
&| B NEEIIENIFS: 50% 1.1%43 EEP 3{;@ 35{(@ 35 i
7| &R £ — | BRER | IhMY HYE LR LY - -
&| Hig gt — | BSAR | fh¥E bkve vE [kvE - -
73| MR L K
1 BEHRA — | BEAR | rhME Mk¥E hME ke —
2 BRSO Hit 60 | 1.1| tb¥ k¥ bhYE k¥ | —
(R RrR LX)
T LR R
1 REHE, FEHA
(1) = - KGR EME TR 50 | 0.6 —| 4600 4.6 —| —
X
(20 EREstoHR 5 | 1.1 —| i 4o 46 00— —
2 FFILET
(1) IR SR R o R, - AR B PR AT R X 50 | 0.6 - o8 —|  —
(2)  ERestoHR 5 | 1.1 - 0.8 —| —
3 HIRR®, R, =Fm 50 | .1 - 4.1 - -
4 A, AT 50 | 1.1 - 52  — -
[l WY A X — | BE#R | Y trHy = -
A LS K 50 | 11|k 16F 180 5.3 53 —| —
P FABAR [iEkcplaEe: — | BERR | LMY bW Mg bWy | —
LA b 50 | L.1|h 1 184 5.3+ 5.3 —| —
P K ARARET e — | BRER | PLUE LLWE LYE LLYE - -
i3 FEE Ecenn — | BRMR | LRMH bhYE LR LhYE - -
R LR ety 50 | 0.6 —H esd 7.8 7.8 -  —
(U B R S 1) JBL R B4R £ 11 X))
HIBk3RHET [ifcaRlE — | BHR | PhHE RRME M ERYE - -
T LR K dek
1 R —t sspE T~ —| | —
2 ERELMAE DX 50 | L1|# 7o 96 8.5H 8.5  — -
L1 BE R ET [k AES: 1 — | BEMR | FeH bkYE HYE  ERYE - -




&F0 645y i = X I
i XATF 4« FCAR T AT UK LB EE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® & # ®
R 1Lk ET AT LR
1 B —# adfE 57— —| - —
2 LELRIAA DS
(1) IEg 7 JRE K ) [ 1 R 1 PR A7 1 [ 50 0.6 | 44 651 7.9 7.9 - -
(2)  EFELSDOHIK 50 | L1|B e7f 88 7.9b 7.9 — —
L p I gt 50 | 0.6 —F 65 7.8 7.8 | —
(£ B /7 b R RS BIAR A 3 )
HIBR R ET NEkEE|Es: 1 — | B&M | fb¥E LkHE HHE LLEE — —
T LR P
1 IO —We 3mE 72— - -  —
2 LELUt oK 50 | L1|f e o9gd 8.5 85 —| —
W N — | iR | fh¥E ph¥E L I:I:Zj - -
v| #EZF b Ik — | BEAR | PhE bh¥E v b | —
AT (LA Xk
1 R, fEHET
(1) =« KERELAE ERIRFHIX] 50 | 0.6 — —l 4.8%0 4.8 — —
(20 kst oHK 50 | 1.1 — —f 4. 800 4.8  — —
2 1k TH
(1) M= - LKEFERPORRHRTFHE] 50 | 0.6 —| i 4 upEo4 1 | —
(2) kRS oK 50 | 1.1 —| a4 - —




